diGl

I3

@diGl

I3

wdicl

2

diGl

iy

diGl

iy

Gligololl gideicll [déldldensyeioll ulsaRil Anaaeii Jadl sAlRct arRy el walddi 2f Aa 4 & ?
A) CI" i »li[=3axt gl Cl, iy o 9. (B) CI= -t R3sa-t gzl Cl, 4y ot 9.

(C) uMAU UBAL H2 AG o BRL Yeu HA . (D) >l AHA UBAHL WL @AY Adl | 6.
(A) CI° L 2050327 g1 Cl, <y oA 9,

[Bgalasio gl Hogami siddl sdilzd ay, e -dadl uEa da 1a 9.

ZHZO(I) + 2Cl(aq) — HZ[g) + Clz(g) + ZOHIaq)
Guz-l AHlser Yo A9 asid 8 5 CI aiae »{l50Ra Wyl Cl, auy 20l 8. Hi2 (A) AR walel 9.
2L UEAL M2 AG o el +422 k] HOL §. % YA 8 & Gualfdauel Yoot v dEH 2o wsl qdl
SiuRell Acs1gs JRRsA Ridst WA Gist s wnadedl e18bii d1RM sapti 1A & @R SiuRA A2 cia
S. v siwk A24i 2f 21Ad da B ?

(A) a1 dal SIURIDAL AS1SH (B) a-l(IID) dal sl AeS103

(C) »a-(Il) dail SIURD-L AS1H (D) (1) d2il STURDeAL AS1SH

(C) »Ud-L(ID) gl stuR(D-1 Aues1s

o3 sluzd Rulest 208 (Msl 53 ulad-l |l oy sl 20d 8 AR s1uz HE YO §. SuR HEMI
slUR(]) dal BUAAID) Al HeslHs €l 9.

sluz H2 — Cu,S - FeS

oot s] 52 Geleel aRiRgs2Act UG Beizer & ?

(A) Fe;0, + 4CO — 3Fe + 4CO, (B) Cu,0 + C — 2Cu + CO
1 1
© Cu-'(.gq) + Fe(s) — Cu(s) + Fe-'(.gq) (D) CU20 + ECUZS — 3Cu + ESOZ

(D) Cu,0 + %CuZS — 3Cu + %SO2

Guasl uHlsadl Cu,O o [Resai Cu,S a2 8. i UBAMl sluR 2Ad o 98 W3 8. 2 2
uBwHl AMd ¥ sturd Risad ad el dd @dRisuqd wEul 58 9. 0 UL vid qadl siuze
slealaly] siuz seald ©.

yedlol WMuskiel @en oien dodl 3ol 20d B, Aui Aall [ya wuerti Hadl dcdl sAi & ?

(A) Al »i- Fe (B) Al - Cu (C) Fe »i1 Cu (D) Cu i Ag

(A) Al i Fe

Yl diugiHiell gen sfl drell Mol vud 9. dui »utiar dwl B4 Al g sl Al wid Fe ol
219 59, Al 21 a9l 8.3 % dal Fe v aw-al 4.2 % w24 il 204 £ sz Cu dal Ag wel % 249
WMIRHL 1oL €9,

Mot Asilser ulBAlel Rrgia veua.

(A) <l Gesadltlg ariadl [REed gl 92l uldl

(B) ¢[a>ll 4igel 8- @3uq oled ladld d3uMl ay gl 8ld 9.

(C) [HsmminL el el w2sl el %ol dd ¢Melus ur Ald 21y ©.

(D) Ya ugil sl usiddl ouwid [Qued glal el wid ©.

(B) »gfaxl digel wq 2a3ud sed dlodld a3uHl ay alod €ld 9.

A gdlszal ugld > o2 Rigid uz »ualRd © % wsglesil dgel waq 2azun sed dleiia @zuul aul

gl sl 9. MYa g ABEIAL 3y 93 s el dlern wami a8, Refad i dlex-l wa
2000 b 19, ¥y dler B0 gl dy i 3¢l ol [ofad tuguisl ge uig wlEslsaa wadl wa o



azl dleadl edduan 4t Gt addl dal [Laldd Siadi aglesi udiz adl a9, 211 ugla dedls
quid YAualdd sl 21d B A dlerd s o Bami wasaHl »ud 9. s 9% wylell Adlwd Wy
. wl Ha sl Al i 9. ay GR yedl adll wg qAaaar w2 s usld ayud 9. eld.
Rilasid, wHRam o0 dae difauy Fdl ugal ygelsel wie 21 dald auzy 8.

6. SIURA doll ACSITS ViRRSHiA ©21 uisdl auid deil AHisAES Cu,0 oi Rss2uct Aol G 2R & ?
(A) FeS (B) CO (©) Cu,S (D) SO,

aisl (C) Cu,S

o sluRA del ASLO: vasHigdl 92l wisdl aud d-l s Cu,0 4 Risud Cu,S o sl 2ud 6.
2wl UBUA @ARssu WEUL U 58 B dal 20 wEHEl slealay siur 1A 9.

CuZO + lCuZS — 3Cu + lSOZ
2 2

7. [ciftsa [Gfaga GRL Gligololl gidele] [Aglaldenye sl Viclls w2 sd ulda amaA O ?
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(©) Nafyg + € = Nag i Ery = 271V D) Hipgy + € = 5Hyg i By = 0.00V
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oSl gland sy [Qgagdl ad [@Aegd [@eusgd sl 24 ur Al uBa iy 9.
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8. zﬁceloﬁifélau HRoll engsHldelni sd ulsan 2w 8 ?
(A) AI*3 L »iifs3amell Al HA ©.
(B) il U2 eal Asided [RBAA A slol HIAsAOS d2ll steld JdlsADS ot 9.
(C) i-ls Ul i[uo--dl [sA3U 25 olecld ©.
(D) A4 UBAL A8 AsUAA UBUML S S 251 3851 21U 9.

qaist (B) »i-ls Uz wddl dsided »AlEaiad as sield Hidlsilss dul seld gdisss o 9.
ey Wl igsdladdl [Qgalacus uEami siefad ws wsde 2ag ame 36l dils qa
dside Al ddld quua &, il uBdL el dsider isadud ad CO au CO, Hi 8.

AL AHAU uBwA HAlA-u weflszer Yoo wdendl wsi,
2A1,0, + 3C — 4Al + 3CO,
3oy ¢ Al 4 3e — Al
WAL : Cg + O%ﬁﬂaw‘m) - CO(g) + 2e”
C

) * 208 oy = COpg + 4€
0. [Ggalaensydila gudlser ugla gri ool WSl s aigallal s s3 AswRL & ?
(A) Cu 1 Zn (B) Ge 4 Si (C) Zr 24 Ti (D) Zn >+ Hg
oais1 (A) Cu 21 Zn
o sluR w35 wgeid gdlsel sal [Agdlacue ugld-dl Gudlol iy 9.
10. Ricar a6l dNes audal Anaal @2 auridl [Giznact waldti CN™ Rkl quzia 8. dl duiell ke 2030
ad Anaal #2 20 sapii A d ?
(A) > g ad [enu gl Alel qdia-nidl dles dal Riear 2wl »ud ©.
(B) A0zl iyl ¢{ot gll
(C) eia sul olle [HReu- gl
(D) zilsel+ G [Qued gl
ool (A) =4 g 9% [@eUuq gz a0Eel ddlomHiadl oles dul Rieaz g§g uisadi 2ud 6.

i 4Au(s) + BCNfaq] + 2H20(aq) + Oz(g)



— 4[Au(CN),lg,, + 40Hg,
4AUCN) o + Z0g = 2Aug + [Zn(CN),]
wel, (s g [Resuq sal 9.
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11, oiRoit VS] dretiel 42 A [Asar wrie 53l sa dareud siclo FeO of Rssel Fe si 53 CO

A B ?
(A) w~2-A ol {lar duHi (B) 2UA WOe-A Fedl % dluHL
(C) w~2-A ol Gl dluHi (D) uidwe-A el Gl dum

caiel (D) UisH2-A 2l Gl dusu-

o aglami sufen yaer Widwe-A dl GRL dlMHIM A FGg co; < ApGlee, re0)
aM, A Uldeedll Gl duMil C 2 FeO o Fe i [Resus 53l CO »ud .

12.  Wgoe-A 2l ol amsua FeO 2i sél a5 8 ?
(A) d ML slold Hi-lsASs gl Rasad wd ©.
(B) d sief Hidlsulos 2 siol ol gl Resaq ud{l a3 ©.
(C) d M sl girl Resad Wi 9.
(D) d siofd HidlsAS: 2uadl stofd oiqdnizfl 1S wa uelel a3 Rasad wHdl -l

qaiot (A) d Hizl slel iSRS gL Rasaq wH 6.

o Uldee-Adl Al CO il CO, stal M2 Boadl ysd Glodd Hed vot »i A 8 (am2 sa) 1 yey
FeO-{l ysd Glad sl ugl g ¢ld 9. »H, FeOd [Rssarl Hizl slel HiAsRUSs gl o iy 8.

13.  FeO ol Rss2iet 2 Wgo-D oil ANA cildont W] s34 [denot AR B ?
(A) stold HidlsASs A adl Ayel wEA e AG o yer g 4dl 9.
(B) 1 {d slofd dal 1 Hd 2Ailsuo 018 Resad ulBal adl dyel uEa e AG 4 3 4 1a 9.
(C) 2 Hla siod dal 1 Hla i[su A8 Resadt ulBar adl Aqyel uEa M2 AG 4 4 4 1A ©.
(D) stolt Hi-llsulos A8 uBUL 2Adl Aysl uEal M2 AG 4 Y 1oL 1A 9.

qaet (A) sl Hiqdlsans 0128 udl dysl uBul W2 AG 4 Y g4 1o 9.

o Uldee-D WA CO Hidl stddl CO, M2 AG <l a5 d2 Fe uidl addl FeO -l as 9t 9. 21ell, FeO
AiEd Resud ug Al 2uell, AG g w9 9. 2 [Asew (A) Rl .



